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(1) as able to identify the nature of the laughs as fellow Americans

2(A)
[z 1]

In thirty years’ time the main means of transport in everyday life will be unmanned
electric public transportation vehicles. Such vehicles will become popular in response to the
growing problems of pollution and a declining labor force. First, they do not burn fossil fuels
so will have less of a negative effect on the environment. Second, fewer workers will be
needed with such forms of transportation which will compensate for the shrinking labor force
that results from the declining birthrate. (80 words)

2(B)
Thinking about it a little more deeply, I realize that I also felt that I had to learn more about
Europe in order to think about how Japan, influenced by Europe, had achieved modernization.
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(A) problems by repeating the kind of behavior that brought us
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